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94 X4 X4
1210 910
94 172 172
94
() ()
1.414x 0.910 A B 39.72 1.414x 0.910 A B 39.36
=1.286 =1.286
1.820x 0.910 39.72 77.22x 100 1.820x 0.910 39.36 77.22x 100
=1.656 51.43 60 OK =1.656 50.97 60 OK
1.210x 1.212 0.910x 1.212
1.466 1.102
100 1/2 1/2
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114 3 3
2
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m 12 1352 46 4
m m
m
2 3936 x |A2 182x 2 x 40 14.56m |OK S2F 2.173x |LN2F 8.83 LD2F 182x 1 x 40 + LD2F LN2F 1 1 05
0.15 1937 x 05 121x 1 x 20 2.42m 3.639+0.759% x 015 1325m 121x 1 x 20 9.70m 970 133 729 OK 2. 15 9
5.90m 9.69m 16.98m 1.213=8.83 10
S2F 2.173x |LN2F 9.44 LD2F 182x 1 x 40 LD2F LN2F 3. 3 15
3.639+1.263x x 015 1416m 7.28m 728 142 513 4. 45
1213 944 20
B2 182x 2 x 20 7.28m |OK S2F 1213x |LN2F 10.55 LD2F 182x 1 x 20 + LD2F LN2F 1 59 30
787 x 05 091x 2 x 25 4.55m 8694 10.55 x 015 1583m 141x 1 x 20 6.46m 646 158 408 OK 6.2 4 2
3.94m 141x 2 x 20 5.64m S2F 1213x |LN2F 7.73 LD2F 182x 1 x 20 + LD2F LN2F
17.47m 6.374 7.73 x 015 1.160m 091x 2 x 25 + 141x 1 x 20 1101 116 949 7.5 50
11.01m 8. 05 50
1 3826 x |Al 182x 3 x 40 21.84m |OK S1F 2.173x |LN1F 8.83 LD1F 182x 2 x 40 + LD1F LN1F 1 9.12
0.29 4210 x 05 182x 1 x 20 3.64m 3.639+0.759% x 029 2561m 121x 1 x 20 +182x 1 x 2062 256 805 OK
11.09m 21.05m 121x 1 x 20 2.42m 1213 883 20 20.62m
27.90m S1F 2.173x |LN1F 8.34 LD1F 182x 1 x 40 LD1F LN1F
3.639+0.353% x 029 2419m 7.28m 728 242 301
1213 834
Bl 182x 3 x 20 10.92m |OK S1F 1213x |LN1F 10.55 LD1F 141x 1 x 20 + LD1F LN1F 1
2101 x 05 091x 2 x 25 4.55m 8.694 1055 x 029 3.060m 182x 2 x 20 10.10m 10.10 306 3.30 OK
10.51m 141x 2 x 20 5.64m
21.11m S1F 1213x |LN1F 6.62 LD1F 182x 1 x 20 + LD1F LN1F 1
5460 6.62 x 029 1.920m 091x 2 x 25 +141x 1 x 20 1101 192 573

11.01m




RS

1BERIKE

BHEES 1B xFHm NEFER 1B YA NEFER BEESO4H

(1] (1) (4—0+0) X 0.8+(4— 0+0) x (1F&) (2—0-0.5) X 0.8+(2—0+0.5) X0.8—1.0=2.20 (8) 35kNFR—JLF D>
0.8—1.0=5.40

[2] (1K) (4—0+0) x 0.5+(4— B0) X AR (&) 15kNFR— LD
0.5—1.6=2.40

3] AX (1B&) (2—0-0.5) X 0.8+(2—0+0.5) X 0.8—1.0=2.20 (&) 15kNFR—ILE DY

[4) AX (1F&) (2.5—0+0) X 0.8+(2.5—0+0) X 0.8—1.0=3.00 (%) 20kNR— LAY

5] AX (1F&) (2.5—0+0) X 0.5+(2.5—0+0) X0.5—1.6=0.90 (D TFRARIT

(6] AKX (1B) (2—0+0.5) X 0.5+(2—0-0.5) X 0.5—1.6=0.40 () RRVIARRT

(7] AX (1B&) (2—0+0.5) X 0.5+(2—0-0.5) X 0.5—1.6=0.40 () BRVIARRT

8] AX (1) (2—0+0.5) Xx0.5—1.6=-0.35 (L) AT ALY

9] AX (1) (2—0-0.5) x0.5—1.6=-0.85 (L) AT ALY

[10]  |AX (1F&) (2.5—0+0) X 0.5+(2.5—0+0) X 0.5—1.6=0.90 (1) TFARRT

[11]  [(1B&) (2—0-0.5) x 0.8+(2—0+0.5) X (1[&) (2.5—0+0) x 0.8+(2.5—0+0) X 0.8—1.0=3.00 (5)20kNR—JLE I
0.8—1.0=2.20

[12)] [(1B&) (2—0+0.5) X 0.5+(2—0-0.5) X (1[%) (2—0+0.5) X 0.5+(2—0-0.5) X 0.5—1.6=0.40 (B) RARVIARRIT
0.5—1.6=0.40

[13] [(1E) (4+0+0) X 0.5+0—1.6=0.40 AR (A) ERVIARRIT

[14]  [(1BE) (4— 6:0) X 0.5+0—1.6=0.40 (1B (2—0+0.5) X 0.5+(2—0-0.5) X0.5—1.6=0.40 [(%) RHRJARIT

[15] [(1B&) (4—0+0) X 0.8+(4— 60) X (1F&) (2—0-0.5) X 0.8+(2—0+0.5) X0.8—1.0=2.20 (8) 35kNR— LA 9>
0.8—1.0=5.40

[13] [(1B&) (4-2+0.5) X 0.5+ (4—0+0) x AR (~)15kNR— LAY
0.5-1.6=1.65

[14] [(1BE) (2—0+0.5) Xx0.8+0— 10=1.00 |(1[) (2—0-0.5) x0.8+(2—0+0.5) X 0.8—1.0=2.20 (&) 15kNFR—ILE DY

2B FRAKE

BHES 2B xFHm NEFER 2B YAR NEFER EainEs

(1) (2K&) (4— 0+0) X0.8—0.4=2.80 (2[&) (2—0+0.5) X 0.8—0.4=1.60 (&) 15KNFR—ILE DY

2]  [(2B%) (4— 6:0) x05—0.6=1.40 AR (2) ¢ 127 %B

3] AX (2[&) (2—0+0.5) X 0.8—0.4=1.60 (1F) ¢ 12 F4&B

[4) AX (2[&) (2.5—0+0) X 0.8—0.4=1.60 (IF) ¢ 121 F4RB

[5) AX (2[&) (2.5—0+0) X 0.5—0.6=0.65 (B) ERV AT

(6] AX (2B (2—0—0.5) Xx0.5—0.6=0.15 (%) ERJARET

(7] AX (2F&) (2—0—0.5) Xx0.5—0.6=0.15 (%) ERJAET

8] AX (2[&) (2.5—0+0) X 0.5—0.6=0.65 (%) RBRYVIARRT

(9] (2—0+05) Xx0.8—0.4=1.60 (2[E) (2.5—0+0) X 0.8—0.4=1.60 (I1X) ¢ 12 F4RB

[10] [(2—0-0.5) Xx05—0.6=0.15 (2B) (2—0-0.5) X0.5—0.6=0.15 () RRVIARRIT

[11]  |AK (2B (2—0—0.5) Xx0.5—0.6=0.15 (B) ERVIARRIT

[12]  [(2B%) (4— 6:0) X0.8—0.4=2.80 (2F&) (2—0+0.5) X 0.8—0.4=1.60 (&) 15KNFR—ILE DY

[13) | (2B&) (4— 6:0) X0.5—0.6=1.40 AX (12) ¢ 12 F#&B

[14] |AX (2K&) (2—0+0.5) X 0.8—0.4=1.60 (1F) ¢ 12FF4RB




NfEEFAEICFHHEEFEX S=1 100

<
)
<
]
LE
]
Y
@
—
&
o]
Y
@
‘-c
LER
]
Y
@
—
&
o
I
@
—
N

@

\E}

A6

1212 1,820 ‘ 1,820 1212 1820 1,820
|
[15}p———— ‘ — ©[17] [12Jp———=a[13}—-@[14] —
[16] <
{ { t t 9
— W - - N -
. [11’1T—:[12}—7(13. — [14] — [9]‘T (10l 8 [11] N
__[10l4 —[8]- q
-
[9] —
o
{ 3
-
[8] —
g
o]
—
—-[5l@—l6le [71 —-I[s5k®—l6] (7] ——
’T A s ’T | | g
—-[4]% i i —-[4] % ¥ ¥ ®
O—== ? O————= ©- —
(1] (2] (3] (1] (2] (3]
1PREPRIRE 2PEPRIRE




